Week 5 info/homework

· Review apportionment methods
· Discussion of harmonic, arithmetic and geometric mean
· Huntington-Hill
· Fairness and relative fairness conditions
· Balinski-Young theorem

Reading assignment:

· Saari Chapter 4 on strategic voting
UE141 Homework Due 10/7/08
1. Do the following apportionment problem by the Webster (normal rounding) method and the Huntington Hill (round by geometric mean) method. Show the details of your work.

State A=State B=State C=13 people

State D=105 people

Total seats to be assigned=18.


Is there a quota violation?

2. Do the following apportionment problem by the Jefferson method (always round down) and the Adams method (always round up):

A
1646

B
6936

C
154

D
2091

E
685

F
988

Total # of seats to be assigned: 250

Is there a quota violation?

Remark/question: Adam’s method can only violate the lower quota, and Jefferson’s method can only violate the upper quota. Can you see why? Huntington-Hill may violate either.

